vogue™ Classic Series - Pillar Pedestal Cutsheet

FOR ILLUSTRATION
ONLY CROWN
CAP SOLD
SEPARATELY

]
s
5

i

3 == == 7 | 3 == e
s M s @ II e M o [
» i [I o @ s M
] s M s @ ||| s @ s M
v 11 03] @ [£1] []
g | = " - =
el e @ o8
O.H 4'_3]%" e @ s M
1 » R gm] v T e M o
5-5., : 5-5g s o
o B
Q
im oin
Hgfren [}
Hgnn
— ] ==
NOTES;

1. CBU & PEDESTAL MUST BE ASSEMBLED AND FULLY INSTALLED
PRIOR TO ADDING ACCESSORIES.
2. CLASSIC PEDESTAL COVER AND CAP SOLD SEPARATELY.

3. AVAILABLE IN ALL STANDARD CBU POWDER COAT FINISHES.

4. PEDESTAL COVER INSTALLED USING SELF-TAPPING SCREWS
(INCLUDED).

5. PEDESTAL BASE COVER DESIGNED TO FIT OVER
1570 SERIES CBU PEDESTAL.

FOR ILLUSTRATION
ONLY CROWN
CAP SOLD
SEPARATELY

L
E = %1 E == %
e Fead
SHORT PEDESTAL TALL PEDESTAL
(VOGUEP128) {(VOGUEP114)

MULTI-UNIT PAD SPECIFICATION
IF INSTALLING WITH CROWN CAP

-]

~=— 2" MIN. / 3-1/2" SUGGESTED

BOX OUTLINE

BOX OUTLINE

2' MIN. TYP.

i

10" TYP.

r=-2' MIN. TYP, —r——— 3'-15" TYP ——=




vogue™ Classic Series - Pillar Pedestal Cover
Assembly Instructions

These instructions assume that you have already properly %}

installed the vital™ Cluster Box Unit (CBU). If the CBU has not "

yet been installed, please refer to the instructions that came I L!EgSSI-TI-AT.ES??JSL l%%\g'g;ﬁi?sﬁuc;w

with the vital™ CBU. “ SCREWS

For all CBU Types:

Slide the pillar cover base around pedestal (pillar cover base

opening should be installed to the back of the CBU unit). NSTAL PEDES AL COVER E O

Install pillar base cover using #8 flat head self tapping screws. / ARQUND PEDESTAL STAND USING
n SELF TAPPING SCREWS

Attach the Pillar Pedestal Cover onto the CBU post as shown
using four of the #10 pan head self tapping screws.

CBU & PEDESTAL MUST BE
ASSEMBLED & FULLY INSTALLED
PRIOR TO ADDING
ACCESSORIES

HARDWARE TOOLS * CBU UNIT NOT SHOWN

FOR CLARITY.
¥ #8 FLAT HEAD SCREW (4)

@ #10 PAN HEAD SCREW (4] #2 PHILLIPS SCREW DRIVER
(NOT INCLUDED)




vogue™ Classic Series - Crown Cap Cutsheet

3
|
!
]

hY i =5 7
e M 1]
) [L1]
s B m
i du » L 1]
315k
» se2
1 T od O
5.5l %
J Iy
Iy
==
FOR ILLUSTRATION —/
ONLY PILLAR
PEDESTAL SOLD
SEPARATELY

-

-

B|E|E|S] |B|=]=18[ v

o
lelm
B

[T

FOR ILLUSTRATION —/
ONLY PILLAR PEDESTAL
SOLD SEPARATELY

2" MIN. / 3-1/2" SUGGESTED a-{ F

NOTES:

1. CLASSIC CROWN MOLDING CAP DESIGN REQUIRES ADDITIONAL
SPACE BETWEEN CBUs FOR MULTIPLE CBU INSTALLATIONS, SEE

IMPORTANT CLEARANCE SPEC ABOVE.
2. CLASSIC CAP AND PEDESTAL COVER SOLD SEPARATELY.

3. CROWN CAP AVAILABLE IN ALL STANDARD CBU POWDER COAT

FINISHES.

4. CLASSIC CAP INSTALLED USING PERMANENT VHB ADHESIVE TAPE.

NO HARDWARE NECESSARY.

5. CLASSIC CROWN CAP DESIGNED TO FIT OVER 1570

SERIES CBU.

=

25} ‘L 1o
'%:: == _ == _ == ::ﬁ‘ I%;;;;;%
e O b O ] it - F o, -
—— ] - il
FRONT VIEW SIDE VIEW
MULTI-UNITS PAD SPECIFICATION
—=  ~=— 2" MIN. / 3-1/2" SUGGESTED
r 4" TYP. BOX OUTLNE BOX OUTLNE
2' MIN. TYP,
10" TYP.
m==2' MIN. TYP . —o=-et——— 3‘-1%“ TYP ——=




© @& © &

vogue™ Classic Series - Crown Cap

Assembly Instructions

These instructions assume that you have \
already properly installed the vital™ Cluster

Box Unit (CBU). If the CBU has not yet been
installed, please refer to the instructions that
came with the vital™ CBU.

Clean top, sides and back of CBU, to clear
any surface dirt or debris with a soft damp

cloth. CLEAN COMPLETE UPPER
SURFACES WITH A DAMP

CLOTH THEN WIPE DOWN

. ] . FRONT AND REAR TOP
Using the supplied alcohol wipes, clean the EDGES WITH
indicated surfaces of the front and rear of the ALCOHOL PAD

cluster box unit top surface.

Remove cover strips of the double-sided VHB
permanent adhesive tape on the underside of
the cap.

Align the cap over the CBU with the lower
tape strip edge to the back of the CBU.

Press down firmly along the front edge and
rear edge of the cap to ensure tape is
secured,

Note:

Once cap is securely in place, the adhesive
tape forms a permanent bond. Cap is very
difficult to remove after placement and
should be considered permanently installed.

LOWER TAPE STRIP EDGE
(TO REAR OF UNIT)

UPPER TAPE STRIP EDGE
(TO FRONT OF UNIT)

CLASSIC CROWN
CAP INSTALLED WITH
VHB PERMANENT
ADHESIVE TAPE




	ClassicPedestalCoverCutSheet-Installation
	DecorativePillarPedestalCutSheet-Classic
	ClassicPillarPedestalCoverInstallation

	ClassicRoofCapCutSheet-Installation
	DecorativeRoofCapCutSheet-Classic
	ClassicRoofCapInstallation


